# SINGLE USE

## **PRICE LIST**

### DIAGNOSTIC KITS

Code	Contents		Box Price (GST Exc)	Kit Price (GST Exc)	Kits Per Box
D2004	Front Face Mirror with Percussion Tip Williams & CPITN-C Probe		\$380.00	\$2.53	150
D2006	Front Face Mirror with Percussion Tip Sickle Explorer & Perio Probe		\$330.00	\$2.20	150
D2009	Front Face Mirror with Percussion Tip Sickle Explorer & CPITN-C Probe		\$330.00	\$2.20	150
D2014	Front Face Mirror with Percussion Tip Explorer No. 8 & CPITN-C Probe		\$330.00	\$2.20	150
D3001	Front Face Mirror with Percussion Tip Sickle Explorer & Perio Probe London College Tweezers		\$470.00	\$4.70	100
D3003	Front Face Mirror with Percussion Tip Sickle Explorer & Perio Probe Orthodontic Ruler		\$250.00	\$2.50	100
D3006	Front Face Mirror with Percussion Tip Sickle Explorer & Perio Probe Examination Tweezers		\$245.00	\$2.45	100
D3010	Front Face Mirror with Percussion Tip Sickle Explorer & CPITN-C Probe London College Tweezers		\$470.00	\$4.70	100
D3014	Front Face Mirror with Percussion Tip Explorer No. 8 & CPITN-C Probe Examination Tweezers		\$245.00	\$2.45	100
D3550	Front Face Mirror with Percussion Tip Explorer No. 8 & CPITN-C Probe Examination Tweezers 2 Face Masks with Ear Loops	Patient Bib with Ties 2x Cotton Roll No. 2 Tissue wipe Tray	\$95	\$3.80	25

### RESTORATIVE KITS

Code	Contents		Box Price (GST Exc)	Kit Price (GST Exc)	Kits Per Box
S2000	Flat Plastic Ball Burnisher		\$710.00	\$4.73	150
S2002	Dycal Applicator Spatula		\$575.00	\$3.83	150
S2003	Ball Burnisher Small Spoon Excavator		\$710.00	\$4.73	150
S2008	Amalgam Plugger   Small & Large Carver		\$710.00	\$4.73	150
S3000	Flat Plastic Ball Burnisher Medium Spoon Excavator		\$725.00	\$7.25	100
S4000	Flat Plastic Medium Spoon Excavator	Ball Burnisher London College Tweezers	\$710.00	\$8.88	80
S4001	Flat Plastic & Ball Burnisher Small Spoon Excavator	Ladmore Plugger Medium Spoon Excavator	\$710.00	\$8.88	80
S4003	Flat Plastic Small Spoon Excavator	Ball Burnisher Medium Spoon Excavator	\$710.00	\$8.88	80
S4004	Flat Plastic Small Spoon Excavator	Ball Burnisher London College Tweezers	\$710.00	\$8.88	80
S5000	Flat Plastic Carver Medium Spoon Excavator	Ball Burnisher Amalgam Plugger   Small & Large	\$650.00	\$10.83	60
S6000	Flat Plastic PFI49 Burnisher Small Spoon Excavator	Ball Burnisher Half Hollenback Medium Spoon Excavator	\$630.00	\$12.60	50
S6001	Flat Plastic Carver Amalgam Plugger   Small & Large	Ball Burnisher Ladmore Plugger Medium Spoon Excavator	\$630.00	\$12.60	50

### INDIVIDUAL INSTRUMENTS

Code	Contents	Box Price (GST Exc)	Kit Price (GST Exc)	Kits Per Box
BB49	PFI49 Burnisher	\$50.00	\$2.50	20
BB56	Ball Burnisher	\$50.00	\$2.50	20
CB59	Flat Plastic & Ball Burnisher	\$50.00	\$2.50	20
CV55	Carver	\$50.00	\$2.50	20
CV66	½ Hollenback	\$50.00	\$2.50	20
DA69	Dycal Applicator	\$22.00	\$1.10	20
FF53	Front Face Mirror with Percussion Tip	\$17.00	\$0.85	20
FP48	Small Flat Plastic	\$50.00	\$2.50	20
FP54	Flat Plastic	\$50.00	\$2.50	20
PB84	Explorer No. 8 & CPITN-C Probe	\$29.00	\$1.45	20
PB85	Sickle Explorer & CPITN-C Probe	\$29.00	\$1.45	20
PB89	Sickle Explorer & Perio Probe	\$29.00	\$1.45	20
PB90	Williams & CPITN-C Probe	\$35.00	\$1.75	20
PB91	UNC-15 & CPITN-C Probe	\$38.00	\$1.90	20
PB93	Explorer No. 6	\$23.00	\$1.15	20
PL57	Ladmore Plugger	\$50.00	\$2.50	20

### INDIVIDUAL INSTRUMENTS

Contents	Box Price (GST Exc)	Kit Price (GST Exc)	Kits Per Box
Amalgam Plugger   Small & Large	\$50.00	\$2.50	20
Examination Tweezers	\$18.00	\$0.90	20
London College Tweezers	\$55.00	\$2.75	20
Spatula	\$55.00	\$2.75	20
Extra Small Spoon Excavator	\$50.00	\$2.50	20
Small Spoon Excavator	\$50.00	\$2.50	20
Medium Spoon Excavator	\$50.00	\$2.50	20
Large Spoon Excavator	\$50.00	\$2.50	20
Gracey Curette   11 & 12	\$55.00	\$2.75	20
Gracey Curette   13 & 14	\$55.00	\$2.75	20
Gracey Curette   17 & 18	\$55.00	\$2.75	20
Sickle Scaler 204S	\$55.00	\$2.75	20
Hygienist Scaler   H6 & H7	\$55.00	\$2.75	20
Universal Curette   2R & 2L	\$55.00	\$2.75	20
Universal Curette   4R & 4L	\$55.00	\$2.75	20
	Amalgam Plugger   Small & Large  Examination Tweezers  London College Tweezers  Spatula  Extra Small Spoon Excavator  Small Spoon Excavator  Medium Spoon Excavator  Large Spoon Excavator  Gracey Curette   11 & 12  Gracey Curette   13 & 14  Gracey Curette   17 & 18  Sickle Scaler 204S  Hygienist Scaler   H6 & H7  Universal Curette   2R & 2L	Amalgam Plugger   Small & Large \$50.00  Examination Tweezers \$18.00  London College Tweezers \$55.00  Spatula \$55.00  Extra Small Spoon Excavator \$50.00  Small Spoon Excavator \$50.00  Medium Spoon Excavator \$50.00  Large Spoon Excavator \$50.00  Gracey Curette   11 & 12 \$55.00  Gracey Curette   13 & 14 \$55.00  Gracey Curette   17 & 18 \$55.00  Hygienist Scaler   H6 & H7 \$55.00  Universal Curette   2R & 2L \$55.00	Amalgam Plugger   Small & Large \$50.00 \$2.50  Examination Tweezers \$18.00 \$0.90  London College Tweezers \$55.00 \$2.75  Spatula \$55.00 \$2.75  Extra Small Spoon Excavator \$50.00 \$2.50  Medium Spoon Excavator \$50.00 \$2.50  Large Spoon Excavator \$50.00 \$2.50  Gracey Curette   11 & 12 \$55.00 \$2.75  Gracey Curette   13 & 14 \$55.00 \$2.75  Sickle Scaler 204S \$55.00 \$2.75  Universal Curette   2R & 2L \$55.00 \$2.75

# SINGLE USE

## **PRICE LIST**

#### **SURGICAL DRAPE KITS**

Code	Contents	Pack Price (GST Exc)
CP7100	Compact Oral Surgery Pack	\$24.90
	Browse more Compact Packs online ranging from \$16.35 to \$24.90	
CP7000	Standard Oral Surgery Pack	\$60
	Browse more Standard Packs online ranging from \$26.90 to \$67.50	
CP7400	Comprehensive Oral Surgery Pack	\$63
	Browse more Comprehensive Packs online ranging from \$63 to \$73.35	

## SINGLE USE

## **PRICE LIST**

### CLINICAL CONSUMABLES

Code	Contents			Box Price (GST Exc)	Unit Price (GST Exc)	Units Per Box
CC022	Adhesive Film Blue   20x20cm			\$150	\$1	150
FM200	Face Mask with Ear Loops			\$6.95	\$0.14	50
PA073	Surgical Gown Bundle			\$280	\$7	40
CC072	Aspirator Kit			\$56	\$7	8
Drill Sleev	e   Elasticised clear on card   12	20cm				
CC126	Single Pack			\$55	\$1.10	50
CC026	2 per pack			\$69	\$1.15	60
Quick Dril	I Sleeve With Applicator   150 x	9.5cm				
CC175	Single Pack			\$45	\$1.88	24
CC075	2 per pack			\$45	\$1.88	24
Irrigation <sup>2</sup>	Tubing					
CC101	Set A			\$99	\$4.95	20
CC102	Set B			\$99	\$4.95	20
Surgical D	Prape					
SD011	Sterile Surgical Drape Impervious   90 x 120cm			\$45	\$2.50	18
SD013	Sterile Surgical Drape Impervious   75 x 90cm			\$48	\$1.92	25
SD016	Sterile Patient Drape   100 x 150cm	1		\$60	\$6	10
Impressio	n Trays					
IT01SML IT02SMU	Small Lower Small Upper	IT03MDL IT04MDU	Medium Lower Medium Upper	\$10	\$0.40	25
IT05LGL IT06LGU	Large Lower Large Upper	IT07LGL IT08LGU	Extra Large Lower Extra Large Upper	\$10	\$0.40	25